PARTS LIST / LISTE DES PIECES / LISTA DE PIEZAS
ITEM NO . / ARTICLE NO. / ARTICULO NO. : P091260

DESCRIPTION / DESCRIPCION : SIDE CHAIR / CHAISE D'APPOINT / SILLA

x1 Chair Back *
x1 Dossier de chaise
x1 Respaldo de silla

x2 Allen Bolt @1/4" x 45mm *

X2 Vis a téle creuse hexagonale
01/4" x 45mm

x2 Perno Allen @1/4 " x 45mm

=

K

*
x10 Lock Washer @1/4"

x10 Rondelle de blocage @1/4 "
x10 Arandela de seguridad @1/4 "

x1 Chair Seat *
x1 Siége de chaise
x1 Asiento de silla

SN

G

x4 Allen Bolt @1/4" x 55mm *

x4 Vis a téle creuse hexagonale
?1/4" x 55mm

x4 Perno Allen @1/4 " x 55mm

L

x10 Flat Washer @1/4" x 19mm*
x10 Rondelle de plate @1/4 " x 19mm
x10 Arandela plana @1/4 " x 19mm

©

x2 Front Leg *
x2 Patte avant
x2 Pata delantera

) —))))

H

x4 Allen Bolt @1/4" x 75mm™

x4 Vis a téle creuse hexagonale
@1/4" x 75mm

x4 Perno Allen @1/4 " x 75mm

F@
L

x1 Allen Key 4mm *
x1 Clé hexagonale 4mm
x1 Llave allen 4mm

*
Replaceable Part

Page 1 of 3

Residential Use Only

Made in Viet Nam / Fabriqué au Vietnam / Hecho en Vietnam
For further assembly information, please go to
www.myfurnitureinstructions.com



ASSEMBLY INSTRUCTIONS /NOTICE DE MONTAGE / INSTRUCCIONSES DE MONTAJE
ITEM NO . / ARTICLE NO. / ARTICULO NO. : P091260

DESCRIPTION / DESCRIPCION : SIDE CHAIR / CHAISE D'APPOINT / SILLA

Page 2 of 3 Residential Use Only Made in Viet Nam / Fabriqué au Vietnam / Hecho en Vietnam
For further assembly information, please go to
www.myfurnitureinstructions.com



REPLACEABLE PART / PARTIE REMPLACABLE / PARTE REEMPLAZABLE
ITEM NO . / ARTICLE NO. / ARTICULO NO. : P091260

DESCRIPTION / DESCRIPCION : SIDE CHAIR / CHAISE D'APPOINT / SILLA

-

x1 RP091260-BACK x1 RP091260-SEAT x2 RP091260-LEGF
Chair Back * Chair Seat ¥ Front Leg *
Dossier de chaise Siége de chaise Patte avant
Respaldo de silla Asiento de silla Pata delantera

x1 RP091260-HWKIT x4 RC-BR-NAIL
Hardware Kit * Brown Plastic Nail
Kit de matericl Clou en plastique
Kit de hardware Clavo de plastico
*
Replaceable Part
Page 3 of 3 Residential Use Only Made in Viet Nam / Fabriqué au Vietnam / Hecho en Vietnam

For further assembly information, please go to
www.myfurnitureinstructions.com



